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1.¢3%]  Suppose the density function of o ramlom vardable X 13 peeen by

(xy= p#14b-ay | a<u<h
f . clacwhere
lben  ah Write dewn the nane of the dustributien, (1%
by Compute the expectation and varaoce af X, (3%}
2l lfa=2 and b7, whut s Pid-X<55] (1%)

2 (26%)  The amoum aof kerosere(f: 0, in thousands ol liwers 55 S+, ina tank
at the heginming of any day 1s a random amount Y frem which o random
arnwinot X Js sold dunng that day. Suppose that the tunk i ot resutplied
during the day 50 that x is less than ar equal by v, and assae thae the

joint density function of these variables is given by

fis,¥) gl, oy, eyl

O, clsewhere

ah. Find marginal density funetion 1(xp of X and marginal densior
tunction p{y) ol Y. {3%)]

k) Compute murgimal :xpettilliﬂn. and varianee of X, (5%)

¢l Find conditienal density function fxfy) of Xy and conditionul density

functian giylx) of Y. {3%a]

d). Find P Uid=xli2 | V=340 (5%}

e}, Find the corrclation coeflicien 'P AR

fr. Are X and ¥ mmdependens 7 (15%)

3O0TEY A machine 1 producing metal pleces that are cylindncal in shape. A
sarnple of peces is taken and the diameters are 101, 097, 1.04, .04,
009, D9, 099, 1.01 and | 03 contimeters

a). Find a 43% confidence interval for the mean diameter of preces Lmom
thas onachine | asswning an approxumets normmal distribulien. [3%0)

by biterpret the meaning of the result imah (3%

], Suppose the specificalion for diameter ks LI0.03 om, then compute

the scrap rate { proporionn that are aut of specification]. (4%
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4. (15%)  Filteen adult males hetween the ages of 35 and 54 participated ina
study o evaluate the effect ot diee and exercize an blond cholesterol
(R[5 B level The total cholesterol was measured o each subject
imially, and then three nionths after paricipating n an acrobic cxerelse
PrOEraL (5% BEHTY amel swilching s u low-la digt, The data dne

subpect 102 03 4 5 67T & 9 10 L 1% % B4 L3
before 265 240258295250 2452877314 260279283 240 21K 225 247
after 229 231 2272497358 241 234 236 24721382344 21X 219226 2313

130 the data suppert the claim that low-tat diet and acrobic cxercise ane

of value in reducing blood cholesterol level? Use ol 0,05,

3.07%) Two different anslytical 1esty can be uged o detemming 1he impurity level

im stecl alloys. Eiphl specimens are iested wsing b procedures. and the

resulls ame

S]ACCHTICN 1 2 3 4 5 4 T B
test 1 1.2 1315 14 170% 14 1.3
test 2 14 1715 13 221 17 14

[s there sufliciem evidense w conglude that bath ws gavey the sume

rnean Umpurity level, using o -0 Q1.

£ (L3%) ooy T, 11s known lrom past expencace that the probability of selecing
an adudt over 30 vears pld with cancer 13 002, IMNbe probabilite of 4 doctor
incortectly diapbosing a person with cancer as nee having the discase is
0,13 and the probahility af corectly diggnassing & person withow cancer as
not having the disease s (L90), what iy the probybility thal a persen is
diapnosed as having cancer ?

T.{15%) Supposc e interarrival time of jobs submitied to the senver follows an
cxponcntial disteitueion with inean inleramival lme of 3 sceonds. Please

find the probahility of 2 ot more jobs in6 sevonds,




—_—

X w B ®| X =B &5 B X

Pt I’i'—"?‘% % ) 2 ¥ yiemtumns e

' )
v eIt % we i a5 mw 3@ mms Csme s
AL rF

TamLx A3 Areas, Under the Normgd Curve ﬂ !
I o ol 0 3 o A r Ih o w
on | Sm00  MMr  SDED 5130 Sisd 519 AW 51T 53N Al
(%] 5304 4428 TR 5517 2537 5594 5616 4TS 1714 5151
a2 A9 L1L), A8 3910 571 A7 B0 it AL03 By
il } &LT9 B2EY A1 A1 B3N A L0 bl ) A430 B5T
0% £354 B59L 51T At A0 FALT £172 An08 By 1h,!
05 &5 B A543 g T JoEs N1 FIEY! bl ) T
[T AT A 3| T 115t Rt i k] ThSd TARS Nith TR
o7y It T6N Tl 571 Trou T AT TTH 1823 TR52
aN ¥ JH JHrid Lkl 04T 9 A0 A MH BI04 Al13
0% AL RIS 8212 B3k N2tk B8 K113 BAah AT R}
10 TR} JHGH g F1g BaES 2304 23] FELT ASTT 2598 B
1.1 B &1 BARS AT Fip ATH9 A0 B ABLD SR
11 Aaan 1T BAER A5 B3 j.L T v H98D L B
1.2 A S0ua S 2 099 SE14 13T Ata7 S142 4577
14 L ILT Ly 222 923 L ratl A8 M N ELN L3}
14 nin LEF 9357 5N B LAt T Sa06 LTIT] a2y Sl
L& Bas3 Bag a4 ErLTE L ¥TL1 9303 Bl 525 8538 BL4E
) 5534 54 95Ty 0582 L] 459 Sk G616 5 25 LY
LR A AT 3656 (-1 SETY SETA FEBE 91 609 T
) 5711 ms AT 8132 VAT LRIT S50 BT%4 ATE] 9761
2.0 L oyr] 514 STE) E3 7] 419 5798 9503 J308 12 LTAK
11 ] Rk S Ji34 SAIR LTTY, A84E L] L 1ET LTLY]
.2 LTy S 171 ] g K7 105 SRR Ji St )
13 Tk SR S K] Ml S0 Ha0n L2 1] SaL} P16
7.4 0 L. L b e 917 w1 3| 33 M W
P 53R 9940 oL 3 boas 0us SR 949 3l il
14 3 k- L 17 55T 959 960 Y 29462 T
1.7 . % 056 9047 2963 55 MM T .72 .73 o]
1 S04 ot 28T L b 8877 W 279 e M #H .
k| M8 oo el 3 LT P4 T E S L Pokh

. 30 g7 TN T [ T s R [y 949 ) i

Y | S0 T 5991 S Lo a9 991 2 49 R
32 Sy 3 9 5954 9904 LT T 2085 s S
Ll Ly L] ] 9% -7 e P S ) Bk 9T
14 oY o T a7 T ST 297 o o7 il




# 4 ® B X B @w B K

ﬂ-h#&i :Ilfirﬁ ¥ (M) ki ¥ 33 R N

ﬁB A i.; _#h mm ¢ B e [BEe ) S
3 'f

Tabr A.d Crteal Yaloes of the ¢-THstobuthon

o
v 040 030 0.:] 0.1% Q.10 .05 0025
1 0.]25 a7z 1.37% 19463 IO £.314 12.706 |
2 | 6249 06T 1.061 1.3%4 1.886  1.520 4,303
3| 0 0884 097E 1.250 1634 2.3%3 3182 §
4 | 0. 0568 0 1.1641 1533 211 1776
5 b w7 hsse 080 L.156 1476 2IHS 1571
& 0.265 .553 0906 L1 L. 440 1.942 .447
K 0353  o0sse OEH K119 1415 1.895 1365
8 0263 05 OERE 1i6A L.3%7 1.880 2. 306
¢ | 02 0543 06Kl 1R 1383 L.B33 .22
W | ol 052 0ET 1.063 1372 a2 2,178
1 0260 0% DB 1.0 1.363 1. 756 2301
1IZ [ 42 03W 08 1.083 1.356 1.781 1.17%
13 0.2 0331 DB 1.9 1.350 1.771 2160
14 0.254 0.537 01.%eH (K Frl] 1. 345 1.761 1.145
15 . 258 .54 0564 I 4 |.341 1153 1.13]
b | 0258 05T 086 1.071 1.337 1,746 210
1T | 6257 03M 0a8 1.064 1.333 LTl 2010
1B | 0257 0.5M 0382 1.067 1.330 i T34 Z.101
1w o[ L5y 451 0B 1.066 1.3 L7 2.0003
.1 4.8 11.533 0. B0 1064 1.31% LTH 2 86
Zl n.zw 0-53: 0.8%59 1.0e3 1.513 17 1.080
22 0256 G532 0.838 1.061 1,325 1717 2.074
FA 0256 0531 a5 e 1318 1.714 2.064
M| DI%E 053 (.857 1.059 1318 1.9 1064
Fa 02% 0131 0.856 1.054 (L 1.708 2.060
% | 01 05 0,556 .08 1.315 . 7K 2 56
27Ty 0BE 08 0.855 1.057 1344 1.1 3.082
25 D256 0.5 O.RSS 1 086 1513 1 T 2.NudH
o) 0.244 0. 530 0. 854 1.0k655 1311 1.69 1M1
M 0.2M 0530 0. B4 1.5 1.310 1.687 2041
A | 03I 05X e £.050 303 1.684 202t
B | 02  0ST GE4 b0As 1.296 1.671 2,000
120 | 0254 0526 GRS 1.041 L.289 658 L8
™ 0253 042 08l 1.0346 ¥ F: 1.541 .2l
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Tasrx A (roarnued)  Critical Valoes of the -Crisribution
- }
v | o2 0815 oM 00075 0005 00035 D O00S

Lo 15835 208 3LENL 62434 63AST NIT3IT 0 636560
p 4,849 5.543 b5 5 £.073 9925 L4.08% 1 9 !
3 LI T ENE ) 4,541 L K ) 5541 7 4513 12624
4 2.95% i 1 MT 4.0E8 4,604 5508 B &LO
3 |1 1,757 3.003 1,365 T6M 4.012 471 & 269
f ; 2612 1.3H 3143 i 1.707 4,117 5959
T 2.517 27LS pRL R L 1400 4.0 5
] 1.445 16H 2,896 1085 1.35% 1.833 5.04]
9 2,198 251 2821 2 0 1.2%0 1.69) 4781
1 2.359 7 517 2,764 25932 1,169 1,581 4 587
1! 2.32% 2491 21 2870 1.106 1.497 4.477
] 12 1.313 2.46] 2 581 2,53 1,054 1428 4318
Yol 2282 1A% 2 G50 1.8 1.312 3,372 4.2
1 14 2,284 1414 2624 27171 1877 3,376 4 140
| 15 | 2249 1397 202 2,746 197 3,286 4073
Y 2.13% 1352 2383 2724 Pl 1152 4015
17 y el 2.364 2 567 2,706 2.898 3,12 1.965
12 2.214 1.3%6 2452 15k LUTE 1197 3591
i 19 2,205 1,346 1539 15674 T.R&1 M 1.88Y
P 19 1.336 2 514 1.561 T Rd5 1153 3844
2] 2 LB4 2,328 2518 1649 2831 LN EE 1819
) 2183 1.320 1504 2.539 2819 1t19 3,757
ya| 2177 2,113 2500 629 1857 A0 1,758
P v Bl 1w 1.4 1.6 2. 797 1.09 3708
25 2167 1.3 2485 1612 p 3 3.7 3,725
16 2462 2,79 2.479 1605 2T 1067 3.5707
ol Z.158 2.3 1473 7598 2T 2057 3,600
yh 2154 T H6 1.467 2,592 1763 1047 3674
P, 2.150 2.4 2462 p i 2. 756 1.0%8 3544
3 2.147 1.278 2457 z.541 2.1%0 1.03 EL AN
43 24 2,350 1.473 I.542 7 T4 2971 1581 | -
(1] 7.099 2,713 2.390 T 50 ) 1915 3464
1 2.976 219 1.358 T. 468 2E17 1.860 XM
m 2054 2ET0 132 2437 2.57% 1807 327
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